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Limits to the principal stresses
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Limit to the largest shear stress on
every possible section
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So, we can write

2t <oy
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So, we can also write
o1 — 02‘ < Oy

g —03‘ < Oy
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Limit to the strain energy
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VON MISES

Limit to the distorsional part of the
strain energy

W=3 > X sij)
iI=X,Y,Z j=X,Y,Z

Sxx = Oxx —Op

1
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Result
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Uni axial tension
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Tension + shear
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(Huber Hencky)
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Limit to the combination of t and o
at every possible section

r<C—-olang
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Compression
_ 2ccos _  2ccos
singp -1 1+sing
In general

max(oy,09,03) N min(cy,09,03)
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MOHR-COULOMB Example

Soll c = 3,0 MPa
¢ = 0,2 rad

Stress to carry
c1=—0,86 o09=-4,16 03=3,88

Will it fail?

5, = 2CCOS @ _ 2*3,0*%cos0,2
1+sing 1+sin0,?2

5 _ 2CCOS @ _ 2*3,0*%cos0,2
‘ Ssingp -1 sin0,2-1

max(oq,07,03) N min(oy,0,03) _

=4,91

=-7,34

Ot O
3,88+ -4.16 _136
491 -7,34

1,36 is larger than 1, so, it will fall.
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